
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Year 6 Arithmetic 

Test 4 

Name : ____________________ 

Score : _________ out of 40 



 

 

 

  

 

4 x 7 = 

214 x 3 = 

7010030 = 7000000 + 10000 + ________ 



 

 

 

2314 + 3415 = 

550 ÷ 5 = 

5

4

1.08 x 100 



 

 

 

 

 

1935 ÷ 3 = 

3

8
 + 

6

16
= 

4321 + 123 + 456 = 



 

 

 

7700 ÷ 7 = 

109.3 + 54.51 = 

45 + ____ = 173 



 

 

 

3

4
 - 

1

3
= 

 

831 ÷ 1 = 

7321 - 5298 = 



 

 

 

 

 

 

2 × 4 × 6 = 

10,000 - 10 = 

5

8
 x 

2

3
= 

 

 



 

 

 

0.357 × 4 = 

4 - 3.4 = 

387 x 56 = 



 

62 - 32 = 

5 x 700= 

1
1

2
 +  2

3

5
 = 



 

12 - 
14

20
= 

8 + 6 ÷ 2 = 

212 ÷ 10 = 



 

30

3 x 
2

5
 = 

3

4
 ÷  2 = 

45 × 0.3 = 



 

 
3

5
 of 50= 

4521 x 63 = 

1540 ÷ 22 = 



1440 ÷ 16 = 

45% x 2500 = 

8923 x 61 = 


